Bridging Material Self-Mark Answers

Answers

Indices:

1 7 5 4 7 1
1.a°2.b3.d 64.x125.3t26.15r27.16t* 8. 25b* 9.p +10.9x5 11. b 12. y &
1 1 3
1.6x32.10x23.2x7 1 4.2x735. 253
3 4 5

Surds:

1.4/152.2v/33.7/3 4. ‘/%_0 5. Zgﬁ 6. %ﬁ 7 18+56\/§ 8. 5—123\/§

a) 2v/5cm? b) 6cm?  c) 36cm?

a)30vV3cm b)4V10 c)18V2

Factorising:

1.x+1D)(x+3)2.(x+2)(x+5)3. (x—2)(x+1)4. (x+4)(x—2)5. (x = 5)(x + 3)
6.(x—2)(x—8)7.(x—4)(x+4)8. (x+15)(x +8)9. 2x + 1)(x + 1)
10.383x+D(x—1)11. 2x+1)(2x+3)12. (4x + 1)(x + 4)
1l.x=—4o0or—22.x=-50r13. x=80r—14.x=355.x=70r—66.x=00r3
7.x=—100r68.x=§0rx=19.x=§or—410.x=4or111.x=50r—2
12.x = —6o0r — 2

Completing the Square

2
1. (x+1)2+32.(x—2)2—33.(x+6)2—64.(x—2)2+145.(x+§) +2

1\2 3
o(x-2)
(a) 2(x+ 2)2-6 (b) 2(x + 3)2 - 21 () 3(x-2)2-10
(d) 4(x + 1.5)2 - 14 (e) 2(x - 0.75)2 - 6.125  (f) 5(x - 2)2 + 10

1.x=2J_r\/82.x=—1J_r\/§3.x=3i\/§4.§J_r“2—g



Quadratic Graphs

Question 1
1a) y=10 b) It will cross at (0,10)
c) x=2andx=5 d) It will cross at (2,0) and (5,0)
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Simultaneous Equations



Question 1:

(a) x=2 (b) x=1 (c) x=3
yv=6 =3 y=2
Question 2:
(a) x=5 (b) x=5 (c) x=4
y=4 y=2 y=9
3 8 17 6
1.x=1;y=32.x=3,y=5 3.x=7y=1 4x=—?,y—g
Straight Line Graphs
1. 3 2.15 3.-2
4 6 5
1 2
7 _Z 8.5

Trigonometry

1.14.28 2.12.44 3.2.05 4.41.76 5.42.833 6.36.87 7.11.43 8.24.46 9.29.47
10.19.5 11.9.79 12.70.67



